MIA M IIDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Gulfstream Aluminum and Shutter Corporation
3001 SE Gran Park Way
Stuart, Florida 34997

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Impact” Aluminum Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 1001, titled “Impact Bahama Shutters”, sheets 1 through 10 of 10,
prepared by W. W. Schaefer Engineering & Consulting, P.A., dated November 17, 2000, signed and sealed by
Warren W. Schaefer, P.E. on March 18, 2004, bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews NOA #00-0411.11 and consists of this page 1, evidence submitted page(s) as well as
approval document mentioned above.

The submitted documentation was reviewed bylyelmy A. Makar, P.E.

A. M\/ NOA No 04-0325.01
Expiration Date: 05/06/2009

Approval Date: 05/06/2004
06/0 '4/0 4 Page 1




Gulfstream Aluminum and Shutter Corporation

1.

> N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0411.11
DRAWINGS
1.  Drawing No. 1001, titled “ Impact Bahama Shutter ”, prepared by W. W. Schaefer
Engineering & Consulting, P.A., dated November 17, 2000, sheets I through 10 of 10,
signed and sealed by Warren W. Schaefer, P.E.

TESTS
1.  Test Report on: 1) Large Missile Impact Test, per PA-201
2) Cyclic Wind Pressure Test, per PA-203 and
3) Uniform Static Air Pressure test per PA-202, of Bahama shutters,
prepared by Hurricane Test Laboratory Inc., Report No. 0205-1203-99, dated
February 28, 2000, signed and sealed by Vinu J. Abraham, P.E.

CALCULATIONS

1. Anchor analysis and calculations dated 03/29/2000, Pages 1 to 14, prepared by W. W.
Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer,
P.E.

MATERIAL CERTIFICATION
1. Certified Tensile Test Report No. 0AM-142, prepared by QC Metallurgical Inc., dated
03/02/2000, per ASTM E8-93, signed and sealed by Frank Grate, P.E.

NEW EVIDENCE SUBMITTED
DRAWINGS
1.  Drawing No. 1001, titled “Impact Bahama Shutters”, sheets 1 through 10 of 10,
prepared by W. W. Schaefer Engineering & Consulting, P.A., dated November 17,
2000, signed and sealed by Warren W. Schaefer, P.E. on March 18, 2004

TESTS
1. None.

CALCULATIONS
1.  None.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS

1.  None. H (/g“/.) ’4 M\/
67/ Helmy A. Makar, P.E.
Product Control Examiner
NOA No 04-0325.01

Expiration Date: 05/06/2009
Approval Date: 05/06/2004




1

o

112" MAX.

3

SHEET SEAMS TO—j
BE VERTICAL WITH
2" OVERLAP AT
MULLIONS. SHEET
MAY SPAN ACROSS
MORE THAN ONE
MULLION WITHOUT
A SEAM 96"

SHUTTER ARMS;—/

SEE ARM SPACING
TABLE ON THIS
SHEET.

o
"

) i
e

—

WALL

®

STORM BAR:

SIMILAR —7—
‘a t I+
| et
'iib | T\
! SRR
Y L 4R
|
|

I
|
ISEE SECTION "A”
''FOR FASTENING T

FWALL
| \
I
|
.._l-.——-— - —{

/

O —— ===

I W

I
T

GENERAL NOTES:

N

|4

SEE SHEETS 9 & 10 FOR
SPACING REQUIREMENTS
OF STORM BARS FOR
SINGLE & MULTIPLE

BAR SHUTTERS.

EXTERIOR ELEVATION

A

2-3

QUAD PANEL SHUTTER

SCALE: 1/2"=1'-0"

ALL ALUMINUM EXTRUSIONS SHALL BE 6063~T5 ALLOY UNLESS SHOWN OTHERWISE ON THESE DRAWINGS.

THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE SHUTTERS.

2. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF
THESE SHUTTER SYSTEMS ARE DESIGNED TO WITHSTAND WIND PRESSURES, IN THE OPEN POSITION,

RESULTING FROM 3 SECOND GUST WIND SPEEDS UP TO 90 MPH IN ACCORDANCE WITH THE FLORIDA
BUILDING CODE (FBC) 2001 EDITION.
THESE SHUTTER SYSTEMS HAVE BEEN DESIGNED & TESTED IN ACCORDANCE WITH THE FLORIDA
BUILDING CODE (FBC) 2001 EDITION AND PROTOCOLS TAS-201, 202 & 203.

EACH SHUTTER SHALL HAVE A LEGIBLE & READILY VISIBLE MARKING INSTRUCTING THE OWNER/TENNANT
TO SECURE THE SHUTTER WITH BRACKETS & STORM BARS, PER THESE APPROVED DRAWINGS
DURING PERIODS OF HURRICANE WARNINGS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS:

GULFSTREAM ALUMI
STUART, FLORIDA

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED
ALL CONCRETE SUBSTRATE SHALL BE MIN. 3000 PSI.

NUM & SHUTTER CORP.

ALL WOOD SUBSTRATE SHALL BE MIN. G = 0.55 DENSITY.
A 33 1/3% INCREASE IS USED IN THE ANCHOR DESIGN CALCULATIONS DUE TO WIND LOAD.

/

P

( L

ING)

(7) = Tsaxax1/8
= TS2X3X1/8
= TS2X5X1/8

\

/
:
" \_SEE "STORM BAR
END CONNECTION

DETAILS™ ON
SHEET 7

(8
\=%/

SEE NOTE FOR ALLOWABLE SHUTTER WIDTH

~— 28" MAX. ——=f=— 28" MAX. —=f=—— 28" MAX, ~—=}=—28" MAX.—=———— SEE SECTION "A"

FOR FASTENING TO

MULLIONS. SHEET
MAY SPAN ACROSS
MORE THAN ONE
MULLION WITHOUT
A SEAM 96"

SHEET SEAMS TO— -
BE VERTICAL WITH \ S 7
2" OVERLAP AT | 7

S 56" MAX.
) . SEE SECTION "A”
(DD~ Wt 28" wx — ST
N ~ WALL
T 3 2 = = : - ¥
: ! 26
STORM BAR:
= 7 (7) = Tsaxzx1/8
X = TS2X3X1/8

it

T\ = TS2X5X1/8

AT\

™

/
T \"sEE "SToRM BAR

—SEE "FRAME CORNER—
DETAIL" ON SHEET 6

N7 i
SEE "OPTIONAL BASE CLP"~——

DETAIL" ON SHEET 7

3

END CONNECTION

|

|

I

| DETAILS” ON
I hwg 7

|

N SHUTTER ARMS;
|

|

|

{

D a— p—

JI™ 1)  SEE ARM SPACING

TABLE ON THIS SHEET

}:_._.__

e

L

(8
\i-5/

11019

EXTERIOR ELEVATION

MAX. ALLOWABLE DESIGN WIND LOADS

DOUBLE PANEL SHUTTER

NOTE: THE

MAY BE USED PROVIDING THE OVERALL SHUTTER WIDTH DOES
NOT EXCEED 112" & THE PANEL WIDTHS DO NOT EXCEED 28"

2. IF NO STORM BARS ARE REQUIRED, ANY NUMBER OF PANELS
MAY BE USED & THE SHUTTER OVERALL WIDTH MAY BE INFINATE
PROVIDING THE PANEL WIDTHS DO NOT EXCEED 28"

POSITIVE NEGATIVE SCALE: 1/2"=‘|'_0"
80 PSF 80 PSF ARM SPACING TABLE
SEE SHUTTER & STORM BAR TABLES ON SHEETS SHUTTER HEIGHT | MAXIMUM SPACING
9 & 10 FOR REDUCED LOADS AS CONTROLLED BY 48" OR LESS 56"
SHUTTER SPAN, STORM BAR SPAN & STORM BAR = 7 5
SPACING. 49" < h < 60 45
61" < h < 72 38"
NUMBER OF PANELS IS GOVERNED BY: /3" < h < 84 52
1. IF STORM BARS ARE REQUIRED, ANY NUMBER OF PANELS 85 < h < 96 28

VALUES IN THIS TABLE ARE BASED ON PRESSURES
RESULTING FROM 3 SECOND GUST WIND SPEEDS
UP TO 90 MPH

NOTE: ALL 2 PANEL SHUTTERS REQUIRE JUST
1 ARM AT EACH SIDE!

PRODUCT REVISED

STORM BAR NOTE: THE NUMBER OF STORM BARS REQUIRED
WITH EACH SHUTTER TYPICALLY VARIES FROM 1 10 3 & IS
DEPENDENT ON SHUTTER SIZE & REQUIRED DESIGN PRESSURE.
SEE ELEVATION SKETCHES & LOAD TABLES ON SHEETS 9 & 10
FOR STORM BAR REQUIREMENTS.

as complying with the.
Baiding Code 3

Acceptance No 04—~ O?”&-—Ol
Expiration Date

Division

ORAWN BY:

W.W.5,

CHECKED BY:
W.W.5.

DATE:
11/17/00

L
Z
a
>
[1a]
=z
Q
=
o
o
(%]
w1
w
a
=z
Q
]
g
a
o
4
&'
ol o
a (&)
<C
04
Sl uz
E=g
Geoe
mémg
<
9829'
=g
5899
Zo
z' ~
SueR
émg'\\,
=5
w3
=
=27
50
<
52
=z O
n s
o
] )
Ele |8
~+
2| & Sed
n}] W, e
W "8
<] Z4E @
= o 2z°
< Z-V) ..
I Lu(.');_rm?;
<< Z 54
m i O«
wd %o
— L s
O W 2.1
< | £= 2328
e |, O 2o
ﬁz ,_OO .!IIJ_
— Em zzw
&) 5.8 827
Z S = 0 Q yj
= %2 0 Z
= 5 o 2
] o= [
ui
(a1
7| it
O = i
o™ £
o So
gl Bg
= | .
x ui
e
o{ E’\}
= ©
=
DRAWING NO. | REV.
SHEET NO.
1 o 10




™ 1/4" X MIN. 2 1/4” TAPCON 2" MIN. @ BLOCK/CONCR. \ COUAL _uws | _wws '
@ B 1" FROM ENDS & 12" MAX. 0.C. _/_ 3/4" MIN @ WOOD FRAME MEMBER 3 [ 12 Y1700
A 1/4" TAPCON T O i L 8
7 =S WHEN INTO BLOCK/CONCR; o 2}: _— } } -
1/2" 2" MIN, WREN N7 WO0D: , § -
1 1" FROM ENDS & MAX. 1/2" - cquaL Z
| 12° 0C. T R T A 5
: ' R a NO. 12 SS. SMS i3
@D_/Q EDGE OF BLOCK, — , \\ A" // ?/Sl-'TlR_OhS/IMENDS Z
OR CONCRETE N e / :
@ | (NOT FINISHES) /@ ' & 16" MAX. 0.C. 2
, | : \@ 2
, : O NOTE: FASTENERS SHAE 5
@~ , (26) \ BE PLACED IN_EITHER .
/ @_\ \4.. HEAD FRAME STUD OR R
, , (4X(5) WALL STUDS. al 8
W T—® & | &2
} { ~ E %‘: '0\7
Q00 ' ) -0 TEE
—
A § z ~
/e : REQ'D MINIMUM EMBEDMENTS & EDGE ; \ 2528
/ \ DISTANCE FOR OPENING FASTENERS f 3, N
TV ]) FASTENER EMBEDMENT EDGE_DISTANCE , FhER
f | [17# Twecon T 3/4" INTO BLOCK/CONCR. | SEE DETAILS 252
/ / / T 1/2°_INTO WoOD FRAMING | 3/4" /@ , /_.@ NOTE: FASTENERS MAY =03
yd 1/4-20 PANEL-MATE  [1 5/8" INTO BLOCK/CONCR. | SEE DETAILS 112 : BE PLACED IN SILL ;::)E
A I 1 5/8" INTO WOOD FRAMING 3/4" I /—® FRAMING OR WALL STUDS 3
10 EA. INTER- | NO. 12 NS 1 1/2" INTO WOOD FRAMING 3/4° | w E°
MEDIATE MULLION 4 1/4 LAG BOLT 1 1/2” INTO WOOD FRAMING 3/ ' @ /o o -
1/4-20 RAWL CAULK=IN |1 1/2 INTO BLOCK/CONCR. | SEE DETAILS 1/ 7/ /b El¢ . 8
NE 2" LEG 1" MIN. 2| 2 §e2
~ 1 L <| 2247
SEE "STORM BAR TO @@ 3 - / <| 2527
ggH\.IPNOﬁogH%CT;ON @)—" N uaian CAN TURN ANGLE / 3| 8¢ gt
. O EDGE OF BLOCK, il BOTTOM LEG ‘ /{ ol E5Tes
3) \ OR CONCRETE 1/4-20 PANEL-MATE WHEN INTO e OPPOSITE DIRECTION. Q== K c| w3 £}
(NOT FINISHES) WOOD, BLOCK OR CONCRETE OR (w5 —1 o 3/ 4" Wi |,58 55%
1 1/4-50 RAWL CAULK-IN WHEN | i o s 1/2" MIN. —] - HS |258 28]
- INTO BLOCK OR CONCRETE; e |Sx®83]
@—\Q ] o 1" FROM ENDS & MAX. 12" 0.C. |- \{_y 1. / = 2; 8%9
. - L 1/4-20 PANEL-MATE M EE £
@@ ) T ok MR Ry 0"y, SEE "OPTIONAL BASE SECTION /& :AiXFRSMC Ea,'ﬂf] 83/0150 ¥
# Joh_o| [+ 2" MIN W — 3/ WA CUP DETAL 1" ON SHEET - = P9 ) EDGE DISTANCE = 3/4) =
~ L CONGR, OF | ZMI. & BLOCK/COIGR No. 22 N LEU OF  (FACE MOUNT ONTO WOOD FRAME) AN
WOOD FRAMING 3/4" @ WOOD CONTINUOUS ANGLE 2 & £
» J (NOT FINISHES) NO. 1. PRODUCT REVISED =2 .
e oo SECTION /2 B e i
: L-MATE OR . iding Code <t 2
SEE "OPTIONAL BASE CLIP <y 1{4-20 RAWL CAULK-N S 1/2 WAL Expregion b, 2%%.2%%%.0, = :
DETAIL 1" ON SHEET 7 1" FROM ENDS & 127 (RECESS MOUNT ONTO BLOCK, CONCRETE OR WOOD FRAME) B c0g
FOR USE OF CLIPS SECTION m MAX. 0.C. §§§, He duacr - ot DR‘i\vgg 1No. REV.
NO. 22 IN LIEU OF SCALE: 1/2 FULN2/ Divison . £ Coatied SHeET NG,
CONTINUOUS ATGLE (FACE' MOUNT ONTO BLOCK/CONCRETE) 2_o 10




] 1/4” TAPCON &3 \ P Rt T
// 1" FROM ENDS & 12" MAX. O.C. <
J— i DJ\IQQZZZZZZIZZD S * ﬁ‘:}\ﬁm?ﬂ ? i :
= y 11 h".'
12 i 2" MIN. | %
/ A 1/2 y.a \/ EQUAL J §
; \ 15 | >< NO. 12 SS. SMS OR 1/4” SS. g
S _ . LAG BOLT 1" FROM ENDS & 8
@—/Q (E)EGEO%FCRBELF%CK, @—/{’ .\'. . o &:1.--;-- .-/ 16” MAX OC é
@ / \@ (NOT FINISHES) @ / \_@ N3 16" POP RVETS: ggTELA FCAESDTE‘I:IERE?THNE/EY 2
. , 1 AT EA END & :
\ @ 316" POP RVETS , AT MDDLE OF sPav HEAD FRAMING STUD OR g
, AT MIDDLE OF SPAN ‘ \—. 10 HOLD TUBE TO WALL STUDS .
@—\ TO HOLD TUBE TO @\ 4 @ FINGE. &
HINGE. / I
<
NO. 8 S/STL SMS _ Sl B
' /1TAATMDE[/)\L/EEN[I3 AN ' Tl E33
iy OF S < NO. 8 S/STL SMS AT EA. END £x P o
. TO HOLD TUBE TO ‘ & AT MIDDLE OF SPAN TO HOLD nZrg
/G@ FRAME (SAME AT SIDES) ea 1) : ) TOBE TO FRAME (TYP. AT SIDES) -t
: ngN.Ml\ izxgkg% (;Aé_gMALLTJLdBI%UBE /_C MIN. 1X2X0.062 ALUM. TUBE §§§ &
: : OR MAX. 2X2X0.062 ALUM TUBE Zog
; AROUND OPENING AS REQ'D / @ / AROUI{I\D OPENI?\IG AS REQD Su
X TO OBTAN REQ'D GLASS / S A— TO OBTAN REQ'D GLASS FAES
@_\{1, DISTANCE (2" AGAINST WALL) j pe / o wie I\ DISTANCE (2" AGAINST WALL) e
o % /' . * gov
f * g . ~/ n é e
@@ :] @@ \Q : . / 17 MIN. =
% 2" M. | /. | NE
x 1 / E - -
| Va| — 512 3%
; ! N e \ 7l RS
3/4 ] \ EDGE OF BLOCK, 3/4"—f : 2»,*_1 | / 3/4" - 2| geifl
MAX. OR CONCRETE MAX. / ™~ i - _ =| g™ 3"
. 1/4=20 PANEL-MATE =l 9 ady
. (NOT FINISHES) MIN. @/~ / 1" FROM ENDS & 16" T | WEg4c
1/2" — 1/4-20 PANEL-MATE OR L MAX. 0.C. o | &5 Fe
1/4-20 RAWL CAULK-IN _ NOTE: FASTENERS MAY BE 5| B3 £
SECTION /AN 1 FROM ENDS & 12 SECTION /&N PLACED IN SILL FRAMING OR L5 |, 25356
SCALE: 1/2 FULL\Z)/ o SCALE: 1/2 FULLW WALL STUDS. :‘:—32 EWQ, ;éﬁ
(BUILD-OUT MOUNT ONTO BLOCK /CONCRETE) (BUILD-OUT MOUNT ONTO WOOD FRAME) e |23 8%
= 8= i
PRODUCT RE\;SEDFI i = ‘;—"m
s complying wi ! 3l = s
FOR FASTENER EDGE DISTANCE & SPACING ‘éamin;’%o%“‘o e ;’3 5 ol 2 = 53
Accepiance G ™ ) Q| e O
REQUIREMENTS, SEE SHEET 2. Expiration Data g8 78 L 77 a s 52
giyaan Dade pafiuci Control ° g z
Division £
DRAWING NO. ] REV.
1001
SHEET NO.
3 o 10




DRAV‘VVN BY: CHECKED BY:
PLOT:‘WIS' DATEV:LW.S.
1=2 11/17/00
1/4-20 X 2" SS. g
NOTE: SDLT TROLCH B 2" ALTERRATE
THE ARMS MAY BE MOUNTED ON & NTO 1/4-20 Vil LOCATION N
THE WALL ABOVE THE SILL LEVEL oo 4
PROVIDING THE ARMS ANGLE TO / OIS 3
THE HORIZONTAL DOES NOT 1/4°-20 SS. ¢ N 5
EXCEED 30 DEGREES. THRg-goL o8 e
LOCK PIN RS N | .
1 :
[l .,
L 2" MIN.
g
ANGLE MAY BE REMOVED e R — 2| S
WHEN SHUTTER IS IN o T — S| =
OPEN POSITION fsJ[IEEEVSE/fi\' NgﬁgRHwE/ﬁ% Tl E =5
1/4"-20 THUMB SCREW - , ExJo
1 1/2" MN EMBED HEH
— WITH SLEEVE INTO BLOCK /CONCR. .,355%
ALTERNATE TO SECTION B ON THIS SHEET 3385
O N
WO 1/4~20 BOLTS (END ARMS ONLY) Zec
INTO 1/4-20 ALUM. BRACKET NOTES SuR
RVNUTS OR BRASS 1. MAY OPTION TO FASTEN BRACKET TO ANGLE Rl
MOLLY JACK-NUTS WITH ONE 1/4"-20 S.S. THRU=BOLT IN LIEU z36
OF TO THE SHUTTER FRAME. = D3
2. BRACKET MAY BE PLACED ON VERTICAL FRAME 1/4-20 X 2" S.S. s o
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER BOLT THROUGH BAR 2" ALTERNATE gy
(i6) BASE EDGE. & INTO 1/4-20 MIN LOCATION 53
2" AL TERNATE RIVNUT OR MOLLY ‘ / g |5
JACK—-NUT 0 0 "
a0 ss MIN. /[@ LOCATION 20 55 (// \\\ Elg . ¢
THRU=-BOLT & NUT OR % € Koo
1/4” DIA. ALUM. PR IRN ?}ig_lﬁgUAL%Td o —“l._“%l‘ = % | i < o8
AN _ LOCK PIN ¢ N - ALUM. T s e o -
: L LOCK PIN Lo - 3| g% z:?
P Z 5oy
1 L 2" N | B 98]
N ua |, 58 287
@) L] 2" MIN. . Al et
' ‘ I_ ,_':I—j % g; %a.%
- nA— £ 5= 2
ANGLE MAY BE REMOVED ‘ @ o) EE.E" - gﬁgwsﬁ/iﬁgﬁgRHﬁ%
WHEN SHUTTER 1S IN /4] " u
OPEN POSITION Z JV{#H 20 JANB SCREW L 1 1/2" MIN EMBED < o
o0 e e\ / ALTERNATE TO SECTION B ON THIS SHEET™ o [E 3\ |E
Wi ' ONE 3/8" RED HEAD 3 & %
TH SLERVE / SLEE/VE ANCHOR WITH 5 oo 5s
1.1/2" MIN EMBED PRODUCT REVISED = o ¥
INTO BLOCK /CONCR. : ol oz
SECTION (B / T — SR
SCALE: 172 FULL\ 4 FOR FASTENER EDGE DISTANCE & SPACING PN S E
(OPEN SHUTTER AT FACE MOUNT CONDITION TO BLOCK/CONCRETE) REQUIREMENTS, SEE SH ExpiptionDete0a b L oot -
SEE "ARM SP ” , SEE SHEET 2 By, A. [‘4 TRAWING NO. [REV.
ACING TABLE™ ON SHEET 1 FOR SPACING OF ARMS Biami DagePdodust Control 1001
Bivision SHEET NO.
4 o 10




NOTE:

THE ARMS MAY BE MOUNTED ON
THE WALL ABOVE THE SILL LEVEL
PROVIDING THE ARMS ANGLE TO
THE HORIZONTAL DOES NOT
EXCEED 30 DEGREES.

TWO 1/4-20 BOLTS
INTO 1/4-20 ALUM.
RIVNUTS OR BRASS
MOLLY JACK-NUTS

ANGLE MAY BE REMOVED . (&
WHEN SHUTTER IS IN

OPEN POSITION

30 DEG. MAX. __

BRACKET NOTES

1. MAY OPTION TO FASTEN BRACKET TO ANGLE
WITH ONE 1/4"-20 S/STL THRU-BOLT IN LIEU
OF TO THE SHUTTER FRAME.

2. BRACKET MAY BE PLACED ON VERTICAL FRAME
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER

1/4-20 X 2" SS.
BOLT THROUGH BAR
& INTO 1/4-20
RIVNUT OR MOLLY
JACK=NUT

@ - BASE EDGE.
» ALTERNATE

) 3/4" —=— /‘@ LOCATION
1/4"-20 S.S. MIN P,
THRU-BOLT & NUT OR : PAEORN
1/4” DIA. ALUM. ~
LOCK PIN e N

() B T

X >

(N
@) /
1/4"-20 THUMB SCREW
WITH SLEEVE

SECTION /B

SCALE: 1/2 FULND/

(OPEN SHUTTER AT FACE MOUNT CONDITION TO WOOD FRAMING)
SEE "ARM SPACING TABLE" ON SHEET 1 FOR SPACING OF ARMS

VARANY

2 NO. 12 S.S. SMS

1/4" S.S. LAG BOLT
OR 1/4" PANELMATE
INTO WOOD FRAMING STUDS

ANGLE MAY BE REMOVED
WHEN SHUTTER 1S IN
OPEN POSITION

ALTERNATE TO SECTION B 0

1/4" S.S. LAG BOLT
OR 1/4" PANELMATE INTO
WOOD FRAMING STUDS

1/4"-20 SS.

THRU-BOLT OR
1/4” DIA. ALUM.
LOCK PIN

3/4"
MIN.

ALTERNATE
LOCATION
e ~N

1/4"-20 THUMB SCREW
WITH SLEEVE

3/4"

SAN/A

2 NO. 12 S.S. SMS

L /4-20 X 2" SS.
BOLT THROUGH BAR
& INTO 1/4-20
RIVNUT OR MOLLY
JACK=NUT

1/4” SS. LAG BOLT
OR 1/4” PANELMATE INTO
WOOD FRAMING STUDS

1/4"-20 S.S.

THRU-BOLT OR
1/4" DIA. ALUM.
LOCK PIN

1/4°-20 THUMB SCREW
WITH SLEEVE

SEE "ARM SPACING TABLE” ON SHEET 1 FOR SPACING OF ARMS

] ALTERNATE
3/4" — /@ LOCATION
LIPS

~
¢ N
R s N
TR B,

g.;éé;.\ a

2 NO. 12 SS. SMS

ALTERNATE TO SECTION B_ON THIS SHEET

SEE "ARM SPACING TABLE

FOR FASTENER EDGE DISTANCE & SPACING
REQUIREMENTS, SEE SHEET 2.

" ON SHEET 1 FOR SPACING OF ARMS

PRODUCT REVISED
as complying with the Florida
Buiding Code

Acceptanee No -6325.0]
Expirstion Date O 2009
3y%w\’
Biaimi redust Contral

Bivision

N THIS SHEET (END ARMS ONLY)

DRANN BY: |CHECKED BY:
WHS. WWS.
PLOT: DATE:
= 11/17/00
ul
<
a
>
[ae]
=z
=
T
4
(]
[
w
o
=z
g
4
@
['4
le]
r4
&
ol S
a Q
<
[v 4
E1 uZz
E5s
:é?g
mat_m“'
<« ©
9'8291
=gx>
5509
zor
z . ~~
SuiR
x
émg'\\/
=EoF
ol
BE”
5%
5 e
L
o
z 0
n |3
[0 4
91| )
El ¢ S
21 Z2 3z 7
o N2 W
% d L',q-',:
W "R
<] 258 @
> Qa‘ 5 490
< > .PT
T| GY 248
< Z 35
[a5] [r g
[ | )_2(50
- LD xzo$
Q Wy 21
x| <= 252
i O o =23~
= 00 @ !
- = 1= Q il
= |z0 =255
& I - E
Z =4 o
= %] o Z
: Be 2
5 s= z
uj
a
=g -
3 S B3
= e %i
O1 e OO
o 2
= ;.
0 oz kﬁ
Ol g Luli
P &
<
=

DRAWING NO. |R

1001

2

S

SHEET NO.

o 10




- 0,0 e

777 e W T
LA T 54
md OO @ @ e~ |
@_

REVISION DESCRIPTION

,//f$
—
é_)_

NO.

|~
(@)

—~—1" MIN.
- SHUTTER WIDTH -

| EooooooaN
| | /@ =]
BLOCK QOPENING SECTION /T FLusH MoUNT WOOD _FRAMED OPENING 31 | 2
SCALE: 1/3 FULL\ 6/ , P = S
STORM BAR & ARMS NOT SHOWN FOR CLARITY! . @/ T e AT

3 & 4 PANEL SHUTTERS SIMILAR

FRAME CORNER DETAIL

SCALE: 1/2 FULL

3001 S.E. GRAN PARK WAY
STUART, FLORIDA 34997
(772) 287-6476

GULFSTREAM ALUMINUM & SHUTTER CORP.

NO. 8 S.5. SMS Tr/_lrﬂ— 2
BLOCK EDGE AT EA. END & — | .
AT MIDOLE OF SPAN i
TO HOLD TUBE TO ' ‘ 2
FRAME (TYP.) T % §
MIN. 1X2X0.062 ALUM. TUBE :_"‘”f/ — 30 @ E
OR MAX. 2X2X0.062 ALUM TUBE == = "
AROUND OPENING AS REQ'D L / / / / /\ El o g
TO OBTAIN REQ'D GLASS LT T 21 £ 3.0
DISTANCE (TYP.) S J o BPREL
AMWANY 77 === === < Z:_ "‘:JHG
N = o™ Zz”?
L/ \ / / C) \ | ¢ <] Z.:%0%
: Ty \® T | Wggys
m e~ ng
/ N 20 MULLION END CONNECTION DETAIL | | £33
RN << ™ < m SCALE: 1/2 FULL <l £z 38x
| : - - L 1 ' HS 238 28l
= B L
1" M[N—" [ — “_1” MIN ] o= a
SHUTTER WIDTH u
BLOCK OPENING SECTION /2 WOOD FRAMED OPENING = 9
SCALE: 1/3 FUL\.6_/ BUILD-0UT k= 53
STORM BAR & ARMS NOT SHOWN FOR CLARITY! ‘ £l o 7
3 & 4 PANEL SHUTTERS SIMILAR o he Floride = :
Buiding Code © %

L
Acceptance NoQdL- 0325 .0! é
Expiration Date o9 =
DRAWING NO. [REV.

By 3
Mialni Dade PRodue ¢ outsol 1001
Divisioa SHEET NO.

6 o 10




DRAWN BY: CHECV:(VEID5 BY:
WW.S. WS,
EDGE OF BLOCK/CONCR 3" MIN. AT BLOCK/CONCR SHUTTER EDGE OF BLOCK 3" MIN. AT BLOCK/CONCR. A I L
OR WOOD FRAMING 3/4” MIN_AT WOOD OR WOOD FRAMING 3/4" MIN_AT WOOD 0@@ }
(NOT F|N‘SHES“) @@ " / WALL F(NISH/SHEATH‘NG (NOT F|N|SHES“) @@ ‘1 I_&3/4" VAX @ g
- \
STORM BAR @@ STORM BAR / N
° r-; 3/41' | ’ I g \ @
: 4 o 4 DU -=2Y [ f , % @ [T D 3
{ _ _”‘/' @ g_ ] 32 +—— — ~——~H’— / g
| ERE = ‘ | : ;
Q
SHUTTER e @@ T e : 4;/16" DIA. SLOTTED RON
i < — SHUTTER L HOLE FOR THROUGH g
”» // W
3/8" DIA. HOLES = @@ PLACE EMBEDS FLUSH . . BOLTS }
~—1/2" MIN. WITH STRUCTURAL 3/8" DIA. HOLES = 1T
% %g: mm/@' v%gSK/CONCR'w._-JAr"__ (TYP.) SURFACE (NOT FINISH) . o STORM BAR TO MULUON &
"N 9N (m S
STORM BAR _END CONNECTION "A STORM BAR END CONNECTION B CONNECTION DETAIL 2l e
SCALE: 2'=1-0" SCALE: 2'=1'-0" SCALE: 1/2 FULL ~| Ess
2x2 o
m%mg
2527
SN
EDGE OF BLOCK 3" MIN. AT BLOCK/CONCR. QU
OR WOOD FRAMING 3/4" MIN AT WOOD ppag=
SHUTTER (NOT FINISHES!) . Pﬁ-‘% 2
~ WALL FINISH,/SHEATHING 2
T2 o o s e
. : w5
3/4”MN AT WOOD sl 23
: YOCNIIINDT
) S i & — b El o 2
N 4 +« T
{ Lg e \ | /J % E 8IgEI
f X SHUTTER | < | 227
f —] W PLACE EMBEDS FLUSH . B = | 232
D 2 L oot |~ | 2g g
‘ SURFACE (NOT FINISH . . z 32
TWO 1/4-20 PANEL-MATES . - 3/4 & | = 28,
OR RAWL CAULK-INS PER = 3 ; HOLES / =1
CUP IF INTO BLOCK/CONCR ; @ 5 OPTION TO DRILL HOLE AS 2 1/2" MIN. AT BLOCK/CONCR. Q| £2 %%é
el OPTIONAL BASE NOTE: CLIPS MAY ONLY BE USED REQD AT OUTER FACE OF 1 1/2" WN AT OOD o R |eR8
(SEE SHEET 2 FOR EMBED P DETAIL 1 WITH WOOD FRAMING IF ATTACHED INNER FACE AS SHOWN. STORM BAR END CONNECTION C N EN RN
REQUIREMENTS) CLIP DETAIL 1 10 A CONTINUOUS SILL MEMBER SR N
IPLACE 1 CLIP AT EACH CORNER & MULLION LOCATION| =
=z
2
PRODUCT REVISED E
as complying with $he Florida =
Buiding Code &
Acceptance Ne 04 - 0325, 0] 5]
Ezpiméiu Dote OB/ b 7 009
By HeAa2 M A
Bliami DadpPhods = BRAWING NO. REV.
Bivisien 1001
SHEET NO.
7 o 10




@ MALE HINGE

6061-T6 ALUMINUM

SUPPORT_BRACKET

6063-T6 ALUMINUM

@ SUPPORT_BRACKET

6063-T6 ALUMINUM

r. 1.250~] [-1.250] oo 0,052 2,000 T [-— 2.000 — | 3.000 |
_ ! - n p — -—1.625— | 0375 0.093 'T' : : l
= [—1.126 ) 2.000 LENGTH = AS REQD T
U O FRAME CAP 0,040 T LENGTH = 1" g |20 2,000
062 0. ' 0187 6063-T6 ALUMINUM @ ' . '
HOLLOW BLADE 01
i 2.183__| | 6063-T6 ALUMINUM |— 2,000 —] evm——
— - 1.625 FRAME CORNER KEY N - "B”
FRAME (2) MULLION - o615 Awnon (/) STORM BAR A OSG.:-(—)TRGMORBQSOS-?S
606316 ALUMINUM 6061-T6 ALUMINUM 1050 6061-T6 OR 6005-T5 ALUMINUM
iy L ALUMINUM
' 5.000 ' L—DLAUL
! ! 6063-T6 ALUMINUM 3.000 | T 1 4000 |
LENGTH = ENTIRE 2000 | | ENGTH = 27@ 124 =7
LENGTH = AS REQD T WIOTH OF SHUTTER 4012 0950 2,000 T =g 8
2.000 1.5 MIN.I| THIS LEG AT WALL 0.125 | £ 0.250
o125 K e T L )
—200— | STORM_BAR CONNECTION ANGLE ?
! STORM BAR D" BASE_ANGLE 128 5063-T5 ALUMINUM ’ @@ STORM BAR CONNECTION ANGLE
6061—LEU%I|?N SSOS’TS 6063-T5 ALUMINUM . 6063-T5 ALUMINUM
0.750 3.000
2062 -——1.750T — 0780 2.375 L l——1.000
L %; 1.1f87 0.380 /GB ——f——10.080 1‘387 0.380 /@ i —’i‘ 0.080 1.5 MIN. 2" LEG AT WALL
——' F 1125 | 70250 DA i ! 020 DA i J_ ] — AN
f NLosie n 0052 f 7/16 DIA 0080 —2000— | 5000

OPTIONAL BASE ANGLE
6063-T5 ALUMINUM

MATERIAL LIST

Z 3/8" DIA. HOLES
FOR WALL ANCHORS

NO. DESCRIPTION NOTES NO. DESCRIPTION NOTES
] SHUTTER FRAME |6063-T6_ ALUMINUM 19 | L2XMINIMUM1.5X1/8 BASE ANGLE 5" LONG 6063-T5 ALUMINUM; 1 AT EA. VERTICAL SHUTTER MEMBER
2 | MULLION 6061-T6 ALUMINUM 20 |OUTER PORTION OF SHUTTER ARM 6063-T6 ALUMINUM
3 | FRAME CAP 6063-T6 ALUMINUM 21 ] INNER PORTION OF SHUTTER ARM 6063-T6 ALUMINUM
4 | 7-BLADE 6063-T76 ALUMINUM 22 10.050" THICK ALUMINUM HURRICANE SHEET 3003-H14 ALUM.; MIN. SEAM OVERLAPS = 2" @ MULLIONS
5 | HOLLOW BLADE 6063-T6 ALUMINUM 23 | 1/4" STL BOLT OR THREADED ROD W/WING NUT |STORM BAR TO SHUTTER MULLIONS
6 | L2X2X0.093 FRAME CORNER KEY 6063-T5 ALUMINUM; PLACED AT FA. FRAME CORNER 24 | 1/4" MOLLY JACK NUT OR 6061-T6 RIVNUT FOR SETTING OF NQO. 23 ABOVE INTQ MULLIONS
7 | TS2x2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 25 | 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS AT FRAME CORNERS & 12" MAX. 0.C. (SHEET TQ SHUTTER
8 | TS3X2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 26 |3/16" 5052 ALUMINUM POP RIVETS 1" FROM HINGE ENDS & 6" MAX. 0.C. (TOP HINGE TO SHUTTER)
9 | OPEN 27 13/16" 5052 ALUMINUM POP RIVETS 1” FROM ANGLE ENDS & 6" MAX. 0.C. (BASE ANGLE TQ SHUTTER
10 | TS5X2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 28 | 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS 1" FROM ENDS & 12" MAX. 0.C. (BASE ANGLE TO SHUTTER
11 | L2XMINIMUM1.5X1/8 CONT. BASE ANGLE 6063-T5 ALUMINUM; SECURES SHUTTERS CLOSED 29A [NO. 6 X 5/8" S/STL P.H. SMS SECURES Z-BLADE END TO FRAME CAP (2 PER BLADE END)
12A | L3X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH-OUT BUILD-OUT || 298 | NO. 8 X 5/8" S/STL PH. SMS | SECURES HOLLOW BLADE END TO FRAME CAP (2 PER BLADE END
128 | L3X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH-OUT BUILD-OUT f] 30 {NO. 8 X 3" S/STL F.H. SMS 2 PER MULLION END THROUGH FRAME
13A | L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH BUILD-OUT 31 [NO. 6 X 1 3/4" S/STL FH. SMS 2 PER FRAME CORNER INTO CORNER KEY
138 | L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH BUILD-OUT 32 |NO. 6 X 5/8" S/STL F.H. SMS 1 PER FRAME CORNER INTO FRAME SCREW BOSS
14 | FEMALE TOP HINGE 6061-T6 ALUMINUM; FULL WIDTH QF SHUTTER 33 ] 1/4" X MIN. 3" STL. BOLT W/WING NUT 1 PER STORM BAR END THROUGH END ANGLES & BAR
15 [ MALE TOP_HINGE 6061-T6 ALUMINUM; FULL WIDTH OF SHUTTER 34A | 1/4-20 RAWL CAULK-IN EMBED FULL ANCHOR BODY INTO BLOCK/CONCR.
16 | SHUTTER ARM SUPPORT BRACKET 6063-T6 ALUMINUM; ARM TO SHUTTER BRACKET 34B | 1/4-20 MALE OR FEMALE PANEL MATE EMBED 1 1/2" INTO WOOD & MIN. 1 1/4" INTO BLOCK
17 | SHUTTER ARM SUPPORT BRACKET 6063-T6 ALUMINUM; ARM TO WALL BRACKET 35 |1/4" STL BOLT OR THREADED ROD W/ WINGNUT |ANCHORS STORM BAR ENDS TO WALL ANCHORS
18 | OPEN 36 | 1/4-20 STEEL BOLT ANCHORS STORM BAR END CLIPS TO WALL ANCHORS

37 | 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS 2 PER BASE CLIP INTQ SHUTTER FRAME

2.381 !

FEMALE HINGE

6061-T6 ALUMINUM

___E 0.049

O

17 0.D. SERRATED TUBE

OUTSIDE ARM

6063-T6 ALUMINUM

___E 0.049

ol

7/8" 0.D. SERRATED TUBE

@ INSIDE_ARM
6063-T6 ALUMINUM

NOTE: ALL DETAILS ARE
DRAWN TO 1/2 FULL
SIZE UNLES NOTED
OTHERWISE.

PRODUCT REVISED

as complying with the Florids
Buiding Code

Aceeptance No 04 =03 15 .0/
Expiration Date 9
v o]
Riiami Dade Srbduct Contral
DBivision

DRAWN BY: CHECKED BY:
WW.S. W.W.S,
PLOT: DATE:
1=2 11/17/00
w
T
a
>
m
=z
Q
=
o
o
Q
)
w
I=]
z
o
]
G
[»4
=}
z
&
o] o
O o
<
o
21 §x .
£25
TxJTo
m§m$
<
aZQA
=£E
S£3%
Zog
2. ~
SuR
émgb
=5
)
D37
g &
=R 7]
L
v
=z O
n |2
[0 8
ud "
Elg . 2
<+
2| B e
) l L¥ R
W ©31
< | Z4¢tE &
= IC) 5 a0
< Z_U)LI-..
I LL]OJU‘)E
< Z 35
m = tFtQn
|.|J_l>_§c
— LY x63
Q um::l
< <Z IR
o, |, 50 2o
=S 280 22
»'5 nn:lﬂ
.J'amé._
= S ody
= 4] @z
s 5 ¢
S o= z

CERTIFICATION
MAR 18 2004

DRAWING NO.

1001

REV.

SHEET NO.

8 or

10




5 COE%—GLL—19G XVd ZO6¥—SLL—19G “INOH :
-3 9/+9—-18¢ (TLL) OL¥EE 14 'SNIQUYD HOVIE WIVd o o
mw W [66+E YAINOTS ‘1¥VNLS $0Z—0 3UNS SIV¥L AMVIMIN N G688 =
g% |a= AVM Md¥d NYY9 IS 100§ 'v'd ‘ONILINSNOD % s |
—1= *d¥0D ¥3LLNHS % WNNIKNTY KWY3YLSding ONINAANIONT HI4IVHIS "M "M o ot
= YIUNLOVANNYI SINVLINSNOD _wmmm 1 m@g z Slul
Bal % 8 1o
E4< ) Java SHILINHS VAVHVE 10VdAI RO o
2 E 31va Ad NOUJI¥IS3A NOISIAZY  |'ON A v JUIL ONIMYHQ NOILYDI311-3D
?
o0
. - "
% . W
= = o~
= Rat
< £ Sa~
[P 3 \
=
o > @ =
= <C = 2
“ = | = Ba22 &
w o - T.WMW%/ 2
z = _ e | 3 VERo2g \
) T TP L© = Gt 88 mn
Zu uy 7] X 2ipii-dis
_MOW 4k |k ~ mmnmw.malmnm
[] = 5
s <2y MW" 1r—"" _ L Eafadd REE
, _ = <
_ | ! ] )
f PN =
i f U = =
5 | | v a
= | _ = L <€l = =
- \Ww--—-——=-fr—-v--- o1 Hu M < =
e | e | | = || I 1 7 =
& | =2 I 1 O
= | Ll <C
1 w | W Led
I 1 & [
A loh I [}
_ | i = Q
H " M
i | o
o fIMi—-————,——— e JiIlrmmimim i e g — A | e
2 o 1 7 . : L
F L O Eh. _|.h. m
F—_ILOW End 7 —
zZ = = = = %
B © o o ) >
| (] (8] =
T ho xI .
" W
E 2 £ 52
> _ = _ > W M
T T x (@)
72 ) n )
T LJ
2 2 2 k==
il =
=3
m .
>< — L
T
=
o
[=2)
>< ><
L
= | = il
. = 20 wlo[N|~[s il im]|o
? ® FEE|lw |Yo|ol=|~{v|o|alo|o
=z
= = —_~
Eu S i Enlnd
S 4 ) o
Eog ! L&
& @A T S S N || R S S N = N
« \ BA O olLlieMe e |ie™
\ I o & alolvm|s|lolols|oloic
| w |~ ||| MM
1 \ a- N
[+ M . R
i g5 (wX 0
1 - _ <C| E Qo o
= | ) aa] Z | 0d e L
= o | | m <C — W I — s = = = = = = o
= W = I S =Wwm &) sV |gmlo|o|x|e
s |it-——-— ===l 31| Ly Oxr|z2L © O[O O |~ |~~~
e W T e | I . = ”._._ 7 =
<€ = 1 = (&) fa)
o 2 | H Ol a <C L ©
73] 1 =
! =
! L DL
I _ =
] ~—
Y ]
]
v Lyt |p——————— === o<
- o
2,9 i3 =
S i =
=°8 - = o
] X pu o =3
S w (&) o . .
] iJ = M
- - | = | = ]
il &5 L ! . _ . !
nH_w W _m.lu._rrm ] T
w (73] _MOD- 4, _b_P_ B_B
W AN B > | 3] O a—— ] SN ] S SC——— || S
- )
, ! =
»< ! ' _ ! 0
z L D E
. ! ol s
[{=) H T A— oI
~
= _ | o _ M| o) @
= M = I =
: S e | S | | ISR | |
|||||||||||||||||||||||||||||| 2 ST TE T o I L 55
lllllllllllllll i AR | § EOU. S o
" W Ml W “ Ll on
_ } ] i (-
| o5 , & =%
4 _-0
i = m L 2
| e ! 2 ! _ | ! —
(=] I w w H “
m__ = .| O~ " !
- i p———h———— | = =< 1| it attents || sttt sttt | | stk St || Sttt et
4 E rk o e 2
- RFO ¢P _o !
] = =
H wn = > = = o o g
“ Ooly & o S S &) Lﬁ &
L 1.b =| O x _.nm % %
" = ] o o * o
w Lad Lad Lud Ld
] ~ E | E | = | E
I R | 2 2 = >
by d CR A e b w 172 % %
~
> < < <




PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS R
SHUTTER BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE PRESSURE (PSF) SHUTTER BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE PRESSURE (PSF) .
W(Illr]\lT)H SP(A}S)NG AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS WOTH | SPACING AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS g
CONN A CONN 8 & C N N CONN A CONN '8 & 'C
TS2X2X1/8 | TS3X2X1/8 | TS5X2X1/8)™Wo00 /CONC. /BLOCK | WOOD _ |BLOCK/CONC W W TS2X2X1/8| TS3X2X1/8 | TS5X2X1/8|™000/CONC. /BLOCK | WOOD _ |BLOCK/CONC -
“ Iy 80 80 80 80 80 80 2% - 39 80 80 70 53
I 80 80 80 80 80 70 30 - 31 80 30 56 Iy z
36 80 80 80 80 80 80 96 36 - 26 80 73 47 35 £
42 42 80 80 80 80 80 69 42 - - 80 62 40 30 2
18 80 80 80 80 80 80 48 - - 70 54 35 26 2
30 80 80 80 80 80 80 2% = 3 80 80 §6 50 §
" 36 80 80 80 80 80 70 30 - 25 80 80 53 40 ¥
42 80 80 80 80 80 60 102 36 - - 75 68 4 33 3
48 70 80 80 80 70 53 7 - - 64 59 38 28 =
30 80 80 80 80 80 75 18 . - 56 51 33 - o
36 71 80 80 80 80 62 2% - = 80 80 62 47 ol &
54 Iy 61 80 80 80 71 53 30 - - 73 77 50 37 Q| °
48 54 80 80 80 62 47 108 s ] - - 61 64 41 31 S| Gx
2% 75 80 80 80 80 30 Iy - - 52 55 3 77 E=g
30 60 80 80 80 80 67 18 - - 16 18 31 - G R
60 36 50 80 80 80 75 56 2% = - 80 80 60 45 R
12 43 80 80 80 64 18 30 - - 64 75 48 36 =ZE g'o
18 37 80 80 80 56 ) 12 36 - . 53 62 10 30 2852
2% 54 80 80 80 80 77 Iy - - 16 53 34 26 2,9
30 33 80 80 80 80 61 48 - - 40 47 30 - ESETS
66 36 36 80 80 80 68 51 =52
) 3 80 80 80 58 m T
IE] 77 73 80 79 51 38 | o
2 40 80 80 80 80 70 LOAD TABLE INSTRUCTIONS: Z3
) gg g; gg gg 80 75 56 1. SELECT AN OVERALL SHUTTER SIZE (TOTAL WIDTH & HEIGHT). @ £”
o : = = = s y 2. DETERMINE THE REQUIRED DESIGN WIND PRESSURE FOR THE SHUTTER (OBTAIN FROM A FLORIDA =) I
REGISTERED ENGINEER). 51z 3
48 - 54 80 73 47 35 i} ) 21 & 84
24 30 80 30 0 80 5 3. IF THE SHUTTER HEIGHT IS LESS THAN OR EQUAL TO 76", GO TO "PRESSURE TABLE FOR SINGLE wl B ‘I’EZ
0 Z 65 80 80 69 52 SPAN SHUTTERS” ON SHEET 9 AND COMPARE THE REQUIRED DESIGN PRESSURE TO THE ALLOWABLE < (Z,ol %dﬁ
78 36 - 54 80 80 57 43 PRESSURES IN THE TABLE. IF ALLOWABLE PRESSURE IS EQUAL TO OR GREATER THAN THAT REQUIRED, L1 & ;uz,é
42 - 46 80 77 49 37 NO BAR IS REQUIRED & YOU ARE FINISHED. IF ALLOWABLE PRESSURE IS LESS THAN REQUIRED, STORM & 5% éég
5 - Iy 80 57 g 7 BAR(S) ARE NEEDED, SO CONTINUE TO NUMBER 4 BELOW. 5| b3 &%
24 - 62 80 80 80 60 4. IF BARS ARE REQUIRED, GO TO LOAD TABLES ON THIS SHEET. i még §§E,
" “ - & & 80 64 4 5. GO TO APPLICABLE SHUTTER WIDTH IN TABLE AND CHOOSE THE DESIRED BAR SPACING. il ELeE
= - = = i o 4 6. GO ACROSS THE TABLE AND CHOOSE THE BAR AND CONNECTION WHO'S ALLOWABLE PRESSURE N CE L
18 — 3 50 5 T 3 IS GREATER THAN OR EQUAL TO THE REQUIRED PRESSURE. IF THE DESIRED BAR AND/OR I GRS &
m _ 7 50 0 = 1 CONNECTION TYPE DOES NOT MEET THE REQUIRED SHUTTER DESIGN PRESSURE, CHOOSE ANOTHER
0 = 33 80 80 80 25 BAR SPACING AND CHECK THE BAR TYPE & CONNECTION AGAIN. REPEAT UNTIL DESIRED & CORRECT BAR
90 36 - 32 80 77 50 37 & CONNECTION TYPE ARE DETERMINED (NOTE THAT THE LESSER PRESSURE OF THE BAR, CONNECTION TYPE, z
42 - 28 80 66 43 37 OR MAXIMUM ALLOWABLE OF +/—80 PSF SHALL CONTROL THE SHUTTER). g
18 - - 80 58 37 28 PRODUCT REVISED o
1. ALL PRESSURES ARE FOR BOTH POSITIVE & NEGATIVE AND ARE PSF. ;Su‘fgi"‘l’ﬁgf‘.g“m'mmﬁ“ @
2. REF. SHEET 7 FOR CONNECTION TYPES. Acceptanee No 04 0325 . o
Expiration Pate 0 £/20
g DRAWING NO. | REV.
i 1001
Bivision SHEET NO.
10 o 10




